





ON The graph between wavelength of incident light and kinetic energy of photoelectrons 1n photoelectric
effect 1s
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ON Which of the following 1s steam volatile?
OH OH OH NO,
NO,

NO, OH

(1) (11) (111) V)

on Statement-I : Correct order of 10onic radius for Mg®", Na', O and F 1s F > O* > Na"> Mg*"

Statement-II : Correct order of magnitude of gain enthalpy for 17th group follows order Cl > F >
Br > I (Magnitude only)

1) Both statement-I and statement-II are correct
2) Statement-I 1s correct & statement-1I 1s incorrect
3) Both statement-I & statement-II are incorrect

4) Statement-I 1s incorrect & statement-1I 1s correct

Chromite ore + Na CO, + O, —msoluble product containing Fe. Calculate the molar mass of
insoluble product formed. (Given : Molar mass of Cr = 52g/mol, Na = 23 g/mol, Fe = 56 g/mol,
O =16 g/mol)

QN What 1s the value of van’t Hoff factor for A B 1s 30% of A_B 1s dissociated?

1) 1.60 2) 1.30 3) 1.50 4)1.20



Match the following List-I with List-II

List-1 List-11
A) [Co(OX), ] 1) sp°d-
B) [FeF ]* 11) d*sp’
C) [N1(CO),] 111) dsp’
D) [PtCl,]* 1v) Sp’

1) A—1; B—1; C—u1; D—1v

2) A—11; B—1; C—u1; D—1v

3) A—1; B—1; C—1v; D—1n

4) A—11; B—1; C—1v; D—1n

Find the order of the reaction A+B—F.

If the mechanism of the reaction 1s given below

Step-I1 : A + B—D (Slow)

Step-2 : D —C + E (Fast)

Step-3 : C + E —F (fast)

1)1 2) 3 3) 2 4) 4

Given 1onisation enthalpy ot element E  1s 300 kJmol and electron gaimn enthalpy ot A, B, C and
D gases atoms are —320 kJ/mol, —340 kJ/mol, —200 kJ/mol and —250 kJ/mol, then what will be the
correct order of 1onic nature of compounds?

1) EB > EA > ED > EC 2) EB > EA > EC > ED
3) EC > ED > EA > EB 4) EC > ED > EB > EA

Graph between de-Broglie wavelength () and kinetic energy (K) of an electron 1s

1 1 1 \ 1
1) X 2) K 3) K 4) K
. Mo Ao

-

oy

A 18 directly proportional to Je foran electrolyte, then molar conductance for the same electrolyte

at infinite dilution shows
1) Small increase 2) Small decrease 3) Sharp increase 4) Sharp decrease

The correct order of melting point of d-block element 1s

1) Fe > Mn 2) Tc > Ru 3) Os > Re 4) Ta>W



QN
Mg(s)—Mg" + 2¢e°

Ag"+e —Ag(s)

RT
=F, ———Int—

2) E
cell I]F _Ag"' —2

1) E

cell

SE, I 4) E

3)
cell IlF _Ag"' —

cell

Consider the following reaction
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Find the mass of final product (D) formed 1n gm(nearest integer)

What 1s the correct Nernst equation representation for the following cell reaction







If o,p are real numbers such that sec’(tan' o ) + cosec’ (cot'B)=36and o +p =8,

where o >3, then (oc3 ~ B3) 1s equal to

How many 6 letter words can be formed using the word “MATHS” such that any letter can

be used maximum two times?
1) 6400 2) 8100 3) 10000 4) 9824

A triangle 1s formed by three lines 2x +3y—-5=0,x+y—-1=0, 3x +4y—7=0. Let (h,k)
be the 1image of the centroid of A4B(C 1n the line 2x +4y—7 =0, then h* + k* + hk 1s
1 903 : 223 . 100 . 10006

) 225 ) 2295 ) 23 ) 225

Two parabolas having common focus at (4,3) intersect at points A and B. Find the value of
(AB)~, given that directrices of these parabolas are along X - axis and Y - axis respectively






BN A niver 1s flowing with speed 9km/h. Boat 1s going down stream - speed of boat 1n still water
1s 27km/h. A person 1n boat throws a ball upwards with speed 10m/s. Find range of the ball
as seen by an observer at bank of river.

1) 10m 2) 20m 3) 25m 4) 20~/3m

QN Which of the two physical quantities have same dimensions?\
1) Angular momentum and Planck’s constant
2) Torque and moment of ertia
3) Impulse and surface tension
4) Momentum and work done

ON [dentify the logic gate represented by the circuit shown below.

1) OR gate 2) NAND gate 3) AND gate 4) NOR gate

QN The graph between wavelengths (ﬂ.) of mncident light and kinetic energy (K. E) of photoelec-
ICE. K.E
A
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Statement 1: Electromagnetic wave have both energy and momentum

trons 1n photoelectric effect 1s

Statement 2: Rest mass of photon 1s zeo

1) Statement 1 1s correct, Statement 2 1s correct
2) Statement 1 1s correct, Statement 2 1s 1mncorrect
3) Statement 1 1s incorrect, Statement 2 1s correct

4) Statement 1 1s incorrect, Statement 2 1s incorrect



If the radius of first Bohr’s orbits of H-atom 1s a, Then find the radius of 2™ Bohr’s orbit of
H- atom

1) 8a 2) 4a 3) 2a 4) 6ra,

Assertion : A negative potential 1s required to stop the photoelectron

Reason: Speed of electron decreases when a negative potential 1s applied 1n a photo cell
1) Assertion 1s correct but Reason 1s false

2) Assertion 1s correct and Reason 1s also correct

3) Assertion 1s false but Reason 1s correct

4) Assetion 1s false and Reason 1s also false

Heat given to 0.5 moles of a monoatomic gas at constant pressure 1s S00J. Initial tempera-
ture of gas was 27°C. Find value of AV and AT.

1) 300J,48°C 2) 150],24°C 3) 180J,16°C 4) 210J,18°C
An infinite solid cylindrical wire of radius R carries a current I uniformly distributed along

. . . . ol
1ts area. The distance from the centre where the magnetic field 1s equal to 4noR 1S

1) R/2 2) R 3) 4R 4) Zero

When ball 1s kept under sea at depth 2.5km. Find the percentage change 1n 1t’s volume. If
bulk modulus of water 1s 2 x 10”Pa.

1) 2% 2)15% 3) 1.25% 4) 2.75%
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